8.67

oWork = P6a—-Woéh=0

oa=Ro0—-0oh

Ooh=rofsina

O(PR-r(P+W)sina)=0

PR
r(P+W)

sing =



9.6

oWork =W du —F, cos(6)ou

F =ke=k(\Nu"+L -L)

u

Nur+ I’

cosf =

ku(—LvL\/L2 +u2)
oWork =| —
NI +u?

ku(—L+\/L2 +u’ )

IF +u?

=W

9.9

+WJ5u =0



oWork =W éu + RP66

_ ad0-b50
2

ou

oWork = %(2PR +(a-b)W)o6 =0

_(a=D)W
2R

pP=

9.11

oWork = —Pou, — F.du,

u, =2acosd

u,=asinf

ou, =—2ao60sin
ou, =adlcosl

F, =ku,
oWork = ad0(2P — ak cos8)sin6 =0

To make the bar remaining straight, 6 = 0 or 2P-akcos 6 = 0

P = lim(l ak cos ) = 1 ak
60" 2



